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Aiveran n owvipmmon f(x)=Vx-2 .
i) Tloto efvon 1o 7edio opiopod g f 5
i) Na Ppeite g rpés

@ f(e), P, v /(%] B 8 f(h)-
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Aivetan covipmon f(x) =-3x2 +2x,
i) Toto efvon 10 7edio opiopod g f 5

ii) Not ppefte tig T :
@) f(-2), B, v) f(0)
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Aiveran  owviprnon f(x) = x2 - 3x, xeR. No Aoete:
i) Ty eiowon £ (x) = 2
iiyoy aviowon f(2x) - f(x +1) <3x
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—3x+a yi Ty onoia woydet f{4)=6
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i) Nu Bpeite ov apibé o
i) Nt Ppeite ig rpé £(-3), £(-1),(0) ke £12)
iii) Na Abogte v egiowon f(x) =12

iv) N kboeze my avicoon f(x) <6
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S(x)=Ax+20
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